

Bilanz

Bauk	400'000	500'000 Hypothek
Lieg	1'000'000	300'000 AK
		600'000 Reserven
Total	1'400'000	1'400'000

Aktienwert? = 900'000

Annahme: VW Lieg = 2,1 Mio

Bilanz

Bauk	400'000	500'000 Hypothek
Lieg	2'100'000	300'000 AK
		600'000 Reserven (offen)
		1'100'000 stille Res.
Total	2'500'000	2'500'000

Aktienwert? $2.5 \text{ Mio} - 500'000 = 2 \text{ Mio} =$

Rückrechnung Aktienpreis
 \downarrow
 + Immob. wert

Aktienpreis 2 Mio
 + 0.5 Mio Schulden
 - 0.4 Mio übrige Aktiven (Bank)

= 2.1 Mio VW Lieg.

↳ Erlös i.S. von Art 137/138